Factory Outdoor

SCHOOLHOUSE

NOTES:

For Factory 4 and 6 do not remove set
screw holding canopy to arm. Set screw is
installed by the manufacturer and seal as
part of construction.

Instructions apply to Factory sconces and
Factory 2 Surface Mount.

INSTALLATION INSTRUCTIONS

REQUIRED TOOLS:

¢ Flat Head Screwdriver

42

¢ Phillips Head Screwdriver

Wiring Kit (x1)

#8 Plastic Washers (2x)

INCLUDED HARDWARE +TOOLS:

—

Offset Screwdriver (x1)

Jommmm

8-32 x 0.75” Screws (x2)

Canopy Gasket (x1)  Circle Bracket (x1)

1. Detach Circle Bracket from fixture by

removing 8-32 x 0.75” Screws and #8 Plastic
Washers. Reserve screws and washers for
final step of installation.

. Ifinstalling indoors, skip to step 3. If

installing outdoors or in a wet location,
attach included Canopy Gasket by removing
the film on the gasket to reveal adhesive
backing. Carefully position the gasket ring
so that it aligns with the lip on the back of
the fixture Canopy. Press firmly to adhere
the Canopy Gasket to the fixture Canopy.

X Canopy

Canopy Gasket

3. Attach Circle Bracket to junction box using

included Wiring Kit Screws.

4. Wire the fixture to the junction box. Consult

electrician, if necessary.

8-32 x 0.75” Screws (x2)

schoolhouse.com

5. Attach fixture to Circle Bracket by lining up
canopy mounting holes with threaded holes
using 8-32 x 0.75” Screws. If installing the
Factory 2 Surface Mount, use the included
Offset Screwdriver to install Screws with
#8 Plastic Washers as shown. Tighten until
the Canopy Gasket is compressed against
Canopy and mounting surface.

#8 Plastic Washers (2x)

Circle Bracket

Wiring Kit Screws

Canopy Threaded Circle Bracket Holes

051221



